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Reviewing what we know for 6.6 &6.7 Warm Up

Basic Review

1. M(-4,5), N(2,2), P (0,-2), Q(-6,1) 2. N, P01
i i o Quadrilateral MNPQR has vertices M4, 0), N0, 8), P(- 4, 0)
What Iz the most:specific name of this figure? and G0, ~8). Duivenvine whether MNI) 18 a trapezoid, a
parallelogram, a square, a rhombus, vr w quadriloteral.
Cliose Lher voost specific term. Explain,

6.6 Review Warm Up
1. Find <N and <Q. < N o~ 'Og . 2. If ABCD is and isosceles trapezoid with

AC= 5y, BE=4y-1 and DE=2y-1. Find y.
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A,

he O\ AC= BE+DE
WAk N By =Hy-1+2y-!
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3. Use isosceles trapezoid ABCD from #2. If m<ACD= 39°, and <BCA=48°, find m<ABD.

ACER = ApEA -

(6,9)

6.7 Review l . o) e
C(-a,0 e A (@12
1, ABUD s o rhombus with Ada, 03, B0, 1), aud DO, ~h). ¥ind i. -\~ /.

the passible coordinates of O,

. % D O e Q'\ (O.-b)
2. AIN) 35 a square with Ala, 0% B(O, a4, and C(~q, 0). Find 2ANL N e
the possible coordinuies of 1) d ) o? (0 ' P,

8, Given rectangle ABCD, name the (‘J) C\
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comdinates of A, AL, Oty Ble, ¢
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4, Narme Lhe coordinates of the ¥ : P \ C g ’ - )
endpoints of the median of (Ot-2d 82} Bi2h, 2o) g
trapezoid ABUD, ( “d%’)y{(;. j \\x QC\%‘,‘) ) C\ ;
Ty 0 O Ao x
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4, Name the missing coordinates ¥ B.. e W2 -4
of ¢ in puralielogram ARCDH, Blo o) arn (adk

GLAD 0] Ded *



Ex6 Name the missing coordinates for the isosceles trapezoid.

Blad  clarn) C ( o +b, C‘B
. D C ao-+b, O)

Aoy T O 0 ¢

EX7 In the figure, ABCD is a parallelogram. What are the coordinates of point D?

¥

we o (C-b, )

N

o[ gaor Lol X

Ex8 Write a coordinate proof to show that opposite sides of a parallelogram are congruent.

AD = Vb2 42 AD = Bl oo AB=DC

'gpzz il g " ", Op. SideS of o C
= O. - = "

BC = Jor e Farartulogon one

Ex9 Write a coordinate proof to find the length & Q "\’Y\C

me aLoN ?
B(2b,2c) C(2d,2c)
N
A(0,0) D(2a,0)
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